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_{A) President

J;) Brahmavarta

The Governor of every State in India is
appointed by whom ?

(B) Prime Minister
(C) Chief Minister
(D) None of the above

Masonry consist of blocks of accurately
dressed stone with extremely fine bed and
end joint are called

(A) Ashlar masonry
(B) Random rubble masonry

£€) Square rubble masonry
(D) Flint masonry

Haryana was earlier known as
(A) Brahmavara (B) Jai Bharat

(D) Bharatvarsha

If the ratio of two numbers is 3 : 4 and their
H.C.F. is 4, then their L.C.M. is

(A) 12 (B) 16
(C) 24 (@) 48
j- (x+1) (xx+logx)2 A

1
) x+|ogx+c

(B) (x + I;g x)3 i

1
(x +log x)?
(D) none of these

+C

Le Chatelier method is used to determine
property of the cement.

(A) Fineness

(B) Specific gravity

@) Soundness

(D) Setting time

[
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HAT R 7
(A) Tregufel
(B) werHAt

() gemd
(D) 3 H AT

2} 37! T I 3 : 4 IR I A.9.9.
4% | TR AT,
(A) 12
(C) 24

(B) 16

(D) 48

f (X + 1) (x + log x)2
X

1

X +logx

3
B flogn”
1

(x +logx)2

(D) T | FE 7

dx =

(A)

(©)

+C
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18.

a carrier signal of frequency 1 MHz, using
amplitude modulation the frequencies of
the side bands will be

(A) 1.003 MHz and 0.997 MHz
(B) 3001 KHz and 2997 KHz
(C) 1003 KHz and 1000 KHz
(D) 1 MHz and 0.997 MHz

Which register holds the address of
instruction ?

(A) Program Counter

(B) Address Register

(c) Data Register

(D) Accumulator

ar

18.

W) "

10/2019 (01,04,05,10,11,12,14,16,18,20,22,23,24,25,29,
¢ SIOMS lﬁfﬁl%%lll 00000 05 000 O A 0 10 0 0000 O T
13. The value of (1 + .1+ .01 +.001) is 13, (1+.1+.01+ oo1)¥[ﬂﬂ%
(A) 1.001 (B) 1.011 (A) 1,001 (B) 1.011
(C) 1.003 AD) 1.111 (C) 1.003 (D) 1.111
14. The number of sleepers per rail length in | 14. ufa Yot ciars (HeT ®) Tl 31 He
meters represents AR
(A) Gauge density &
: (A) TSt BT
(B) Rail density (B) W o
(C) Track modulus (C) é‘qa"trﬁ:a?f%
(D) Sleeper density (D) &R Bca
- %,
,é. J' (tan X+ tan10 x) dx - 15- J. (tans X + tan10 X) dX e
0 0
1 1
by nd . 1 1
(A) = (B) 11 (A) = (B) 1
1
e = 2 !
& (D) 24 © 3 ()i
16. Maharaja Agrasena ruled the Republican | 16. &SI 3T&H 3 ORI 9T I
State, is femam|
(A) Patiala (B) Kunal (A) gfeaTen (B) oM
(C) Rewari AP) Agroha (C) s (D) 3T
@. A speech signal of 3KHzis usedtomodulate | 17. T dTe Hehd T foh 3 KHz %1 ® | T I8

ek I TfEfl W 2 1 MHz sgf
T AT 2 | fagerdn SaRerds 3 I ST
% SS Y AT &

(A) 1.003 MHz 3R 0.997 MHz

(B) 3001 KHz 3R 2997 KHz

(C) 1003 KHz 3TR 1000 KHz

(D) 1 MHz 3R 0.997 MHz

forer Tforeet # fAcemt o1 o g @ 2
(A) SITH hI3eX

(B) U IR

(C) BTeT TR

(D)
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19. Theriver Yamuna runs from Yamunanagar

20.

21.

22. Theadmixture that slows down the chemical

1
23, Thevalueof {1107 is

to Faridabad to make the flood plains.

These plains are divided into two parts, the
higher one is called

(A) Nelli (B) Kaithal
(C) Khadar (D) Bangar

In Limit state method design of RCC beam,
if actual depth of neutral axis is greater

than the limiting value, then the section is
considered to be

(A) Over reinforced section Ty
(B) Under reinforced section
(C) Balanced section

(D) Singly reinforced section

Kaunayen chicken, a new indigenous
chicken variety mainly found in which of
the following region ?

(A) Manipur

(B) Tamil Nadu

(C) Rajasthan

(D) None of the above

process of hydration SO that concrete
remain plastic and workable for & longer

period is
(A) Super plasticizer £B) Retarder
(C) Accelerator (D) Flyash

19, T AT 8 TGS O A1 o AT
T 21 3 frar & i A e €, IEE A

&l FEd B |
(A) & (B) Fdt ;_
(C) @ (D) k
20. mcC i 3 s fef fafes fesméa #, |
m?gﬁ-cﬁammﬂaﬂhﬁmmﬁ |
aﬁaﬁa’ﬁfaﬁaﬁ/mm%l |
(A) A TG &
(B) T ge & o d
(C) Hgfer & 4
(D) e |

WS [

21. gﬁﬁ@qﬁqﬂ?ﬂam,aﬁmﬁgﬁﬁﬁ%ﬁﬁ

(C) TSIEA™

(D) S H & S T

22. e SRR ST STl #hl Temafeh Tishan
1 efieT & e R e shehie AeRie ® 3R
 EIEEICEAT eI R
(A) TR =R (B) fert
(C) TR (D) RATEGRT

23, 110-} 1T &

(A) 1025 (By 105
©) 115 (D) 19.5
24, The malor river which flows In the State |8
(A) Ganga {B) Yamuna
(C) Saraswat! (D) Drishadvati
\OS"Q‘D. -s-

(ARELL

(A) 10.25 (B) 10.5
(C) 11.5 (D) 18.5
24, T ¥ qgaTeh qe T
(&) T (B) T
(C) wwarelt (D) gwEe
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26.

8

28.

29.

30.

31.

sin® x I
0 cos3x+sin3x
(A) n2 (8" e
©€) = D) %,

Oxygen required for biological decomposition
of dissolved solids or organic matter in
waste water under aerobic condition at
standard temperature is called

(A) COD (B) TOD
(C) ThoD () BOD

The river originated from the Har-ki-dun
glacier in West Garhwal is

(A) Saraswati (B) Ganga
(@& Yamuna (D) Godavari

The levelling adopted to determine the level
difference between two point when it is not
possible to set up the level midway between
the two points is

(A) Profile levelling
(B) Reciprocal levelling
(C) Differential levelling
(D) Check levelling

Sl unit of conductivity of a material is
(A) Siemens/meter (Sm™")

(B) mho (O)

(C) Ohm ()

(D) Ohm meter (Qm)

Computer presently come with a clock
speed of more than

() 1KHz (B) 1Hz
(C) 1 MHz ) 1GHz
The ancient name of river Markanda is
Chajju (B) Yamu
(9)/ (D) Dohan

(C) Aruna

Mo

2&3
Lt

26,

27.

28.

mlllllll OO O O O fiil

25,

29!

30.

31.

R

3
4 QX ==
3 x

7

0 0033 X + sin

sin

yfera 3rg a1 Sfee wardf & oniW S|
% St e B ATgraE SRNAl H A
AT T Fifesd SRS &

(A) COD (B) TOD

(C) ThOD (D) BOD

fem TeETe 3 §-hl -4 fewmel & frerer areit
ECikS

(A) ETE (B) T

(C) =g (D) TeTEd

Ste <1 fogetl & o= geguml @R s 6
HAE T 7, @ A fogett % ot =R oiw
fAeriRe s 2 SToem e T 2

(A) SIS Adfo

(B) eI SAaferT

(C) T Al

(D) ST= Al

a1l o ST St S| 3T
(A) ® /e (Sm)

(B) ¥ (V)

(C) 3T& (Q)

(D) 3T HTT (Qm)
FeATeh T & ST §)

(A) 1KHz (B) 1Hz
(C) 1Mz (D) 1GHz
et el T e ey 2

(A) T (B) amy
(C) &M (D) =rem
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32.

33.

34.

35.

36.

37.

38.

__is a non-automatic rain-gauge.
(A) Weighing bucket rain-gauge

AB) Tipping bucket rain-gauge

(C) Symon'’s rain-gauge

(D) Float type rain-gauge

Tlhe river which originates from Shahpur
village and meets Chautang river at a place
called Ladwa. It is also known as river

(A) Dohan (B) Chautang
(C) Rakshi (D) Krishnavati

Which of the following is a indigenous
variety of bull ?

(A) Murrah

(B) Nili Ravi

(C) Sahiwal

(D) None of the above

The heavy soil found in Thanesar is known
as

(A) Dabar (B) Nelli

(C) Kaithal (D) Khadar

The amount of chlorine consumed in
the oxidation of impurities, before any
disinfection is achieved is known as

(A) Residual chlorine
(B) Chlorine demand
(C) Free chlorine
(D) Total chlorine

7, 6 and X is 5 and the

The av of 2, :
s xandyis 10. What is

average of 18, 1, 6
the value of y ?

(A) 5 B) 10
©) 20 (D) 30
Seismicwave makes a material

particle oscillate in an elliptical path in the
vertical plane (with horizontal motion along
the direction of energy transmission).

(A) P-Waves

(B) S -Wwaves

(C) Love - Waves

(D) Rayleigh - Waves

0/2019
T

32.

33.

34.

35.

36.

37.

38.

30,32&34)

aeaasﬁmn?aﬁﬁmmm
e AR T
i FEd ¢ |

(A) 2 (B) et

(©) T (D) Fomad
ﬁmﬁ«r@aﬁ%ﬂ?—m%ﬁmw%?
A 7

(B) et Tt

(C) wrRET

(D) I A AT

111 . i 1 U - p—
FEATE B |

(A) ST (B) il

(C) HUA (D) T

s e e B & IS STfe o ST

ﬁ@qagiaa%ﬁqaﬁm__a%m%l
(A) STURTE FARH

(B) AGH |

(C) T AR

(D) F A

2 7,63 x o ANEd 57 3 18, 1, 6, x
y 1 3TEd 108 | y T AF 18 7

(A) 5 (B) 10
(C) 20 (D) 30

. fufees 9t weh ered o =
Mﬁ@mwﬁwm%
(it wreror < e o aferst i < wmer)
(A) P -qam
(B) S-aur
(C) &4 -
(D) T -qar
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39.

&,

41.

42.

43.

44,

45.

In which district of Haryana, manganese is
found ?

(A) Karnal (B) Mahendragarh

(C) Hisar (D) Gurgaon

The area _bounded by xy =1, x = 0,y=1

andy=2is

(A) 2log2 (B) log Jo

(C) log2 (D) 2

PERT stands for

(A) Programme Education ang Review
Technique

(B) Programme Analysis and Research
Technique

(9) Programme Evaluation and Review
Technique

(D) Performance Evaluation and Review
Technique

Topromote the development of forest, Haryana
Government framed its own forest policy in
the year

(A) 2003
(C) 2005

(B) 2004
(D) 2006

IUPAC name of [Ag(NH,),] [Ag(CN),] is
(A) Diammine silver (I) cyanoargentate (1)
(B) Diammine silver (I) cyanate (l)

(€) Diammine silver () dicyanoargentate (I)
(D) Diammine silver () cyanoargentate (Il)

An ideal fluid is defined as the fluid which is

(A) Compressible
(B) In-compressible and viscous

(C) In-compressible and non-viscous
(D) Negligible surface tension

Gurugram district derived its name from the

name of
(b) Dronacharya

(©) Gurumay!

(B) Yogananda
(D) Muktananda

0 32&34d
(I

40.

M.

42.

43.

44.

45,

Mg

30. i 3 e rey & TSt T ST € 7

L —

1 01201 9 (01 ,04,05,1 o, 1 1 '1 2’1 4I1 6’ 1 8)20;22)23)24)25,29 3

VAV 1
00000 O DA 0O A [/

(A) T (B) ”%?f’f@'

(C) femm (D) s

& Y THEE xy = 1, x = 0, y = 1 3R
y =2

(A) 2log 2 (B) log /2

(C) log 2 (D)2
PERT hT faediur 2

() St TR s e 2
(B) S wifaife® Ug fre daiteh
(C) ST 3o Ug fieq dofier
(D) THHY AT Tg freg et

o o o ol g % o sRam TR
ﬁazrcrﬂa:r#%\ﬁamﬁu

(A) 2003 (B) 2004

(C) 2005 (D) 2006

[Ag(NH,),] [AG(CN),] T IUPAC =7 2
(A) SRS Rieart (1) FRmtemsfie ()
(B) STz Ryert (1) e ()

(C) mamqﬁwa)gmm ()
(D) SRt et (1) wrertarsioe (i

U ST 59 9 59 8, )
(A) Fftew &

(B) STefiew o var &
(C) e ok arwers &
(D) Vg gy ey
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46.

47.

48.

(b.

50.

51,

If a beam is fully loaded with the uni

) uniforml
varying load, then the equation of the)a/
bending moment will be

(A) Linear Variation
(B) Parabolic Variation
(C) Cubic Variation

(D) Quadratic Variation

North Bridge or North Chipset is responsible
for controlling the component like

(A) BIOS (B) RAM
(C) USB (D) CD ROM

In Haryana, the elephant rehabilitation center
is located in the district of
—~A) Yamunanagar
(B) Panchkula
(C) Rewari
(D) Nahar

If 3 cumec of water supply is required for a
crop sown in an area of 5100 hectares, the

duty of irrigation water will be
(A) 15300 hectares/cumec

(B) 1700 hectares/cumec

(C) 5.88 x 10~ cumec/hectares
(D) 5100 hectares

The Navagraha Kund is located at
(A) Karnal (B) Sirsa
{C) Kaithal (D) Hisar

What is the present rank of India in terms
of fish production in the world ?

(A) India is the largest producer

(B) India is the second largest produce’
(C) India is the fourth largest producer
(D) None of the above

As per IRC width of carriageway for a single
lane is
4A) 8.7 m
(C) 25m

(B) 40m
(@ 7.0m

A

ERNZEN

47.

48.

49.

01,04,05,10,11,12,1 4,16,18,20,22123v24’25’29’30’32&34)

46. 'Z(Fd@d‘mwmwﬁmWﬁ‘IﬁW
'mrgaa%,?haar-{aﬂug’iw Gl
(A) e fafae
(B) "terer fafatrr
(€) =i faferera
(D) feeda fafaeran
IO TS0 S
= Frifie e & forg STRerl ?1
(A) BIOS (B) RAM
(C) USB (D) CD ROM
e e e R A (R
(A) FETFT
(B) U=
(C) @St
(D) Hies
51oo%m%émﬁaﬁ§ﬂ§@wa%§
ai%aaaﬁsrﬂﬁ%%,?ﬁﬁaﬁm%

50.

Ll

(A) 15300 BeFZR /RIHS
(B) 1700 TR /FHF
(C) 5.88 x 10~ FIHH [ THA

(D) 5100

TaE FS FEl Taq 8 7

(A) TS (B) feran
(C) o (D) Teem

e B e IeTeH B ST B ST o1 s -l
WHE 7

(A) A TR FLT IS &

(B) WL GE e g1 IeqTeeh 8

(C) WTe =T Fordl g Iearaeh §

(D) Iwde H & g et

IRC 3 ST T TH T ¥ FTEHAT 01
wherd

(A) 3.75m
(C) 2.5m

(B) 40m
(D) 7.0m
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53.

57.

58.

built a palace in Narnaul

who was the Diwan of Mughal emperor,
Shahjahan.

(A) Rai Madhav Das

(B) Birbal

(C) Rai Mukund Das
(D) None of the above
A number is doubled and 9 is added. If the
resultant is tripled, it becomes 75. What is
that number ?
(A) 3.5 (B) 6
Cy 8 (D) None of these
If f(x) = cosx — cos?x + cos® —..... to oo, then

%2

I f(x)dx =

0

(A) 1 1 B % -11

& Vo3 ©®) Va7
The setting action of cement is reduced by
adding

(A) Lime (B) Silica

(€) Gypsum (D) Alumina
Kalaam-e-Nairang is a compilation of poetry
written by

(A) Altaf Hussain Hali

(B) Syed Ghulam Bhik
(C) Murari Lal Sharma
(D) Allama Muhammad Igbal
Which one of the following is not a federal
nation ? _
(A) Spain (B) India
() Canada (D) Britain

-10-

53.

54,

55.

56.

57.

58.

gvraamsnﬁ,mﬁﬁ%ﬁaﬁ___,___ﬁ
AreYe # Ueh HE Fen AT |

(A) T4 H1HE &

(B) afitaret

(C) T geha aT

(D) Il i @ s T

T WA Y drn feha & i o |
siver e & | afe o wean i feer
T s <t =€ 75 € S B, T weA

R 7
(A) 3.5 (B) 6 .
(C) 8 (D) FH & HIg TE
3T (X) = cosX — COS?X + COS%X — ..... Y oo, T
%
[ f(x)dx=
0
(A) 1 B m-1

1
) Toms (D) “4—%
féte % S i fren firem @
H B STl R |
(L= (B) fafen
(@) (D) Tefi
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60.

61.

62.

63.

- 64.

65.

66.
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USB supports a data speed of
(A) (B)
(C) (D)

1 mbps 15 mbps

12 mbps 10 mbps

The maximum value of friction force beyond
which frictional force cannot increase and
the body begins to move in the direction of
force applied is called
(A) Angular friction
(B) Limiting friction
(@) Static friction

(D) Kinetic friction

Rajiv Gandhi Thermal Power Station is
located at

(A) Khedar
(C) Pundri

Which of the following rank is the
supreme rank which will be awarded in
the Indian navy ?
(A) General

(C) Admiral

(B) Kalayat
(D) Bahadurgarh

(B) Captain
(D) None of the above

The forces, which do not meet at oné point,
but their lines of action lie on the same
plane, are known as

(A) Coplanar concurrent forces

(B) Non coplanar non-concurrent forces
(C) Non coplanar concurrent forces

(D) Coplanar non-concurrent forces

dynasty is also called as
Vardhana dynasty.
(A) Mughal
(B) Pandyan
(C) Chalukya
(B) Pushyabhulti

Differential coefficient of a constant is
(A) Same (B) +1
©) 0 (D)), ~ %

The highest common factor of 36 and 84 is
(A) 4 (B) 6

&

60.

61.

62.

63.

64.

65.

66.

(@)Filia (D) 18

\2

g

U 2
7

2
=

-11-

b

‘01-04-05,10.11,12,14,16,1a,2o,22,23,24,25,29,30,32&34)

USB a‘ﬁgmrr%ﬁaam%i
(A) 1 mbps (B) 15 mbps
(C) ' 12 mbps (D) 10 mbps
mwﬁmwmﬁﬁmm

o1 T8 T 7 FehaT ST g TG TG S
) frgn & ST STRA A AR,
FEATATE |

(A) RO =ET

(B) e =T

() Teuferss =riur

(€) gt (D)
Tl S 3 f ST AT wed 9T 9a
Refifed & & FH-A18 7

(A) SHA (B) el

(C) USHPRH (D) IRt B & IS el
5 = o O fig o e Tl wig Sl

@t g 9 ° &l e, e § |
(A) FHASTE GH ST

91 1 g4 997 +ft hEd E |

(A) T

(B) WA

(C) =g

(D) Tl

L CATDGICHCARC CETGRIMIE RS
(A) HHI (B) +1
€ 0 (D) —1
36 371 84 1 HEwH THTIEH ¢

(A) 4 (B) 6
e (D) 18

lX!”U = .5
SRS

syt ")
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67.

68.

69.

70.

71.

%

I sin® x (6X7 — 4x® + 3x3 + 2x)dx =
-7
(A) © (B) 0
(C) 15 D) 9

The Financial Budget for 2017 — 18 was
tabled by Haryana Finance Minister

(A) Chidambaram

(B) Mahabala Khattar
(C) Captain Abhimanyu
(D) Venkayyah Naidu

Article 356 of the Constitution deals with
which of the following system ?

(A) Special provision for Jammu and
Kashmir

(B) Power to Judiciary to protect rights
(C) Power to President to appoint PM

(D) Power to President to declare State
emergency

Data bus provides a path to transfer data
between CPU and

(A) RAM
(B) 110

(C) ROM
(D) Memory

Indori river rises near
(A) Karnal
(B) Indore
(C) Kaithal
(D) Bhiwanl

-12-

30,32&34
0 0 0 0000000000000 000 100 O A 0

67.

68.

69.

70.

71!

iz

[ sinBx (6x7 = 4x° + 3x° + 2x)dlx =
(A) © (B) 0
(C) 15 (D) 9
2017 — 18 % Toru R srie i & fom
W G ved W T
(A) gy
(B) HaITA WX
(C) %Q?aTﬁT:r:g
(RCERIEIRE
TfFE & 31g=ee 356 f=faRad & & frg

TUTTAT & Hefera @ ?

(A) S TR ¥R & foe fasie graa™

(B) ifershi Y 18T = foru =mferem =
JATTHR

(C) Trsgufd st Yo w3t fgad A @1
JATFRR

(D) TS SATYShICT BN ot o fore Trsgafa
I ARFHR |

Hifgak_ Sefigeerrid
FA % T e 5 T A 2

(A) RAM

(B) 1/0

(C) ROM

(D) Y

WO FIgwE__ hfRwegard |
(A) AT

(B) ¥R

(C) e

o) fyarh
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72. It & b, ¢ are mutually perpendicular unit [ 72. 3TR & b, ¢ Waﬁaﬁqﬁzm%, Gl
vectors then ‘é +b+ ér= la T d’ 8
s &) 3
& 1 (B) 1
(C) V3 ©) 3
(R (D) ©
73. The Vernacular Press Act was passed by | 73. 1878 # fsrfast Gt g Wﬁmﬁ
British Government in India in 1878 was axferforrm arfie feram m,ﬁamﬁﬂﬁ’fﬁa
modelled on the following Press Act. Yo srifem e 2
(A) British Press Act (A) Ffw Ya st
(B) USA Press Act (B) qg-.gqa-g aferfam
(C) lIrish Press Act (C) T I Faferfam
(D) German Press Act (D) vH7 Faffm
74. Executive Department is led by 24, TR fars o Aged &
= fora T € |
(A) Finance Minister A f%ﬁr. A
(B) Home Minister (B)
(©) Governor (C) IIWCTI?{ ’
(D) None of these (D) T T g el
75, In the group G = {2, 4, 6, 8} under | 78. TuH g 10  d8d ¥ G = {2, 4, 6, 8}
multiplication modulo 10, the identity ﬁ,maﬁﬂﬁ?{—m%?
elementis . (A) 6
(A) 6 (B) 8
g ; ©) 4
D) 2 ‘ (D) 2
@) The ruins of Hampi brought to light by which | - 76. Tt 3 wee frw ffw st g @i
of the following British official ? 7
(A) Macaulay (A) Pepe
(B) R.Wheeler (B) 3. IR
(C) Colin Mackenzie (©) FifeT Pohei
(D) Iban Battuta (D) 3 Sl

di 3 .13-
an ,&))r. 2, oL n)
o
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English Language

Fill in the blank with article.

77. _____ climate is one of the many factors
involved in changing farming methods.
A) A B) An
((C; The ((D) Not needed

Fill in the blank with appropriate preposition.
78. Her continued effort was crowned

success. _
(A) by (B) with
(C) of (D) at
Select the appropriate option for the underlined
word.

79. Bookings must be made atleast seven days
before departure.
(A) preposition (B) article
(&) modal (D) noun

Find out the erroneous part of the following
sentence.

80. |shallhave completed this work by the time
you returned from your trip.
(A) | shall have
(B) completed this work
(€) by the time you returned
(D) from your trip

Fill in the blank with appropriate word.

81. The castle stood the lake.
(A) besides (B) beside
(C) between (D) among

Choose the antonym of the word in capital.

82. VAGUE
(A) faint (B) hide
(C) cheep (D) clear

Add suitable question tag for the following.

83. We create our own tradition

(A) dowe? (B) don'twe ?

(C) did we ? (D) didn'twe ?
Choose correct verb which agrees with the
subject.

84. Either intelligence or hard work
required to get good marks.

(A) is (B) have

(C) were (D) are

85.

86.

87.

89.

90.

ﬁ?ﬂlﬂIIII|1HHIIMI!IHII!HIIIIIIIIIIIII}IIIIﬂllli!lllﬁlllnﬂilllﬂllﬂWMIIﬁlKlﬂmlllmlllHIIIHIJ‘!MMM[I!IMMWIWIWIWHJHlﬂ

et
S} T I GETaT % fon € Siet S HeRd,
39 8
(A) I
(B) TFEN
(C) ferw
(D) W&
T gy H em e r sma & =
FTAT FRF© 7
(A) i
(B) =H
(C) *w
(D) 3rferspor

TTer FET SqET &
(A) &
(C) W

{B) 1%
(D) T

o= i g S § |

(A) 26 (B) 36

(C) 33 (D) 35

gfifer TR Iee | M SRR R |
(A) TETES

(B) ATHE

(C) sgsfife

(D) &3

TR 158 ohl Sfer §9 3

(A) gfee (B) Twat

(C) gufest (D) 3w
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